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TOKPER BB (B —-HE+H)
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% g 6-10 7.4-8.3 7.8 =
EEE (mg) 100 <20 <20 =
BB E (mg/) 10 <2 <2 =
MEYHEE (ng/) 2000 650 - 1700 1088 =
MALPI4EE (mg/) 10 <0.5-4.4 1.3 =
FEEEE (mgl) 0.1 <0.040 - 0.070 0.051 =
BT ERAEE (mg)) 100 <15 - 44 23.7 =
HAE  (mg/) 20 <10 <10 =
MeegE  (mg/) 0.5 <0.3 <0.3 =
FRER R E (me/) 1 <0.6-0.9 0.66 =
FHEMER (mg/) 15 <8 - <105 63.4 =
EEFEE (mg)) 2000 290 - 795 596 yoss
AR E (g 200 46 - 163 120 =
EFE(0) 43 21-28 23 =
DR/ N= RIEHRR | BEIE LT [ BEHEDT s
EEEB

i (mg/l) 2 <0.4 <0.4 =
5 (mg/) 5 <1 <1 =
8 (mgfl) 0.1 <0.1 <0.1 =
#&  (mg/l) 1 <0.3 <0.3 =2
i (me/l) 2 <0.50 - 0.99 0.62 =
55 (mg/l) 2 <1 <1 =
i (mg/l) 5 <0.20-0.22 0.2 =
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7K (mg/) 0.05 <0.05 <0.05 =
2 (mg/l) 2 <1 <1 =
B (mg/) 2 <0.4 <0.4 1=k
#  (mg/l) 5 <1 <1 =
FE (mg/) 2 <1 <1 yiss
HHeBEEHS (mg/) 10 <1.0-175 7.1 =
B (mg/) 5 <1 <1 =
#  (mg/l) 10 <2 <2 =
-1 I
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AR ZBE (mg/) 0.01 <0.01 <0.01 s
FEBELEEY
K (mg/) 0.1 <0.06 <0.06 yes
HEHEMEeY :
1,1,1-= & Z K (mg/) 0.05 <0.025 <0.025 v
ZEBE
% &5 K 48 & (mg/) 0.003 <0.003 <0.003 yss
BHEE -
B EEWE & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 e
#5-90 (pc/l) 100 <100 <100 v
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(B/E)
() =+o@EwsE @
ek (mg/m’) 30 0.4 - 16.0 3.3 b
— & /bH (mg/m’) 200 0.0 - 1234 7.0 b
EAfE (mg/m’) 60 0.3 - 137 1.7 b
#EE (mg/m) 4 0.0 - 0.0 0.0 b
A
(ML= &1t & 2 &) 400 56.6 - 195.6 112.9 =
(mg/m"’)
Y4 MR (mg/m) 20 0.0 - 55 0.3 =
— & (B % (mg/m’) 100 0.3 - 80.1 5.5 =
(z) HigE @
ok (mg/m’) 10 2.0 - 5.7 3.4 =
—SAERT (mg/m’) 50 1.1 - 163 6.9 =
EIfE (mg/m’) 10 04 - 3.7 1.7 =
#IEE (mg/m’) 1 0.00 - 0.00 0.00 =
HE LY
(ML= &1L & 2 &) 200 99.2 - 1253 113.0 2
(mg/m’)
YA (mg/m’) 10 0.17 - 041 0.27 p
— & B % (mg/m”) 50 19 - 115 5.7 p
(W) Hftr
AR ELEY
(LA R & &G H) 24 <17 <17 =
(mg/m’)
B EALEY
(L ba= &6 5H) 18.8 <13 <13 yoss
(mg/m’)
?ig%na()u it B 5f 5 ) 37.5 <l.2 <1.2 ys
W E (A TED) (me/m) 5.5 <0.18 <0.18 yos
B RCRAEE (mg/m’) 5 <1.7 <17 &
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(B/E)
EaeBE—8"Y
= A EE (S5 OKE )\ [ 48
RELEG-RN® 0.05 <0.009 <0.009 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 =
4B (B )
AELE =R 0.5 <0.061 <0.061 2
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
TEEHL (ng/m) 0.075 0.005 0.005 s
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8 (hx 1K
B i [ (7K) (E'Jiﬁ B 116 124 2
)
EEE S (%) |0 (;’Eﬁlﬁ 54.- 86 7.6 2
5)
EEgB:
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 =
PAEE (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-4.8 2.3
##  (ppm) <0.5 <0.5
5 (ppm) <1.0-17 1.6
¥ (ppm) <0.5-1.1 0.5
g~ 88~ S5 - SR _
WE (ppm) 25 <2.5-20 4.9 E
# (ppm) 20 <1 <1 Lk
ALY (ppm) 10 <5 <5 pies
RAE (ppm) 10 2.0 .0 yiss
ALY (ppm) 5 <5 <5 pies
B EH S
T 2 W L
& ke 5000 <15 <15 =
= (ppm)
B %K R EE _
(ppm) 10 <5 <5 =
ZbE K Iy 2 = _
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) | <1 <1 =
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